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Please check that this question paper contains 16 printed pages + 2 Maps.
Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :
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There are 36 questions in all. All questions are compulsory.
Marks for each question are indicated against the question.

Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

Questions from serial number 17 to 29 are 8 marks questions.
Answers of these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

Question number 85 is a map question of 2 marks from History
and Question number 86 is a map question of 3 marks from
Geography.

Attach the filled up maps inside your answer book.
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Under which one of the following treaties was Greece recognised as
an independent nation ?

(A) Treaty of Vienna
(B) Treaty of Versailles
(C) Treaty of St. Germain

(D) Treaty of Constantinopole of 1832
OR

Which one of the following is mnot the characteristic of Hoa Hao
movement ?

(A) It began in 1939.
(B) It gained great popularity in Mekong Delta area.
(C) It was led by officials at the imperial court.

(D) Huynh Phu So was a founder of this movement.
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Which one of the following was an ‘allegory’ of the German nation ?
(A) Marianne

(B)  Blindfold woman

(C) Germania

(D)  None of these
OR.

Who among the following was intensely hostile to the monarchy in
Vietnam ?

(A) Phan Boi Chau
(B) Liang Qichao
(C) Phan Chu Trinh
(D) Huynh Phu So
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Who, among the following, was the author of the famous book ‘Hind
Swaraj’ ?

(A) Mahatma Gandhi

(B) Shaukat Ali

(C)  Jawaharlal Nehru

(D)  Subhash Chandra Bose
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Who, among. the following, organised the dalits into the ‘Depressed
Classes Association’ in 1930 ?

(A)
(B)
©)
(D)
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Kanshi Ram
Dr. B.R. Ambedkar
Gandhiji

Alluri Sitaram Raju
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Which one of the following non-conventional sources of energy is
harnessed in the Parvati Valley near Manikaran in Himachal
Pradesh ?

(A) Solar Energy
(B) Tidal Energy
(C)  Geothermal Energy

(D) Wind Energy
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Which one of the following industries generates the largest amount of
employment ?

(A) Cotton Industry
(B) Jute Industry
(C) Silk Industry

(D) Textile Industry
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Which one of the following groups of terminal stati

with National Highway No. 8 ?

(A)
B)
©)
(D)

(A)
(B)
©
(D)

Which one of the fo

Delhi and Kolkata
Delhi and Amritsar
Delhi and Mumbai

Varanasi and Kanyakumari
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port of the country ?

(A)
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@A)
(B)
©

(D)
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New Mangalore Port
Marmagao Port
Vishakhapatnam Port
Paradip Port
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movements ?

(A) They are multiple issue movements.
(B) They are issue specific movements.
(C) They have a clear leadership.

(D) There is no single organisation.
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Which among the following countries has a one-party system ?

A) USA.
@ U

(C) China
(D) Japan
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Which one of the following is a better way to carry out political
reforms in a democratic country ?

(A) Legal changes
(B) Empowerment of people
(C) Constitutional changes

(D) Legislation reforms
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Which one of the following is not a feature of foundational challenge ?
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©
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It involves strengthening of the institutions and practices of

democracy.

To keep military away from controlling government.

Bringing down the existing non-democratic regime.

To establish a sovereign and functional state.

13, frefafaa & § awq ol yomeh &t sfed ffea s 2 2

(A)
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©
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Which one of the following is an essential feature of barter system ?

A)
(B)
(©)
(D)
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It promotes local market.
It spreads social field of an individual.
It requires double coincidence of wants.

It is an easy way.
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Which one of the following type of countries has been more benefited
from globalisation ?

(A) Rich countries
(B) Poor countries
(C) Developing countries

(D) Developed countries
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Which one of the following Indian industries has been hit hard b,
globalisation ?

(A) LT.

(B) Toy-making
(C) Jute

(D) Cement
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A)  wadsh fafast
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On which one of the following items is I.S.I. used as a logo ?
(A) L.P.G. Cylinder

(B) Jewellery

(C) Gold

(D) Agricultural products
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Describe the impact of ‘The Revolution of the Liberals’ of 1848 in
Europe.

OR

Describe any three steps which were taken by the French to suppress
the movement inspired by the Huynh Phu So.

g # e i & ¥ e # gt R wR & T 2 Iewwl 6w
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How was history re—inferpreted in creating a feeling of nationalism ?
Explain with examples.

TR wet ARG F A q gew &5 A feg R A5t ¥ detE @ @ 8 2w
FHINT | 3

How is solar energy becoming popular in rural and remote areas of
India ? Explain.

“gi Sl % o W AR H A S fere. wreeequl 3o sgEmET

B 1”7 §9 Fe S A Il a9y #ife | 3x1=3
“We have to adopt a cautious approach for the judicious use of our
limited energy resources.” Support  the statement with three
examples.

‘et TF I F i SR B oy Iws e e w5 ogEs @ 17 T s
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“Advancement of international trade of a country is an index to its
economic prosperity.” Support the statement with three arguments.
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How do political parties shape the public opinion ? Explain with
three examples.
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How are democracies able to accommodate social diversities ? Explain
with three examples.

TR ST et Tl & fredl & ot 3t = B | 3x

Explain any three merits of democratic governments over the
dictatorship.
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Explain the three major challenges faced by modern democracies.

"ﬁms@ﬂﬁmmaﬁ,%wﬁ@mwﬁﬂkmél"ﬁﬁﬂmﬁy.
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2
“Whether credit would be useful or not, it depends on the situations.”

Give two different examples in support of this statement.

“qRd F AT SR vl & § enf of stfwstw T YRR @ & fow ww
st et W AR E 7 59w @ g 9 saEh 9 Teg ¥ T 3x

“Most of the poor households still depend on the informal sector for
loans, both in rural and urban areas of India.” Support the statement
with three examples.
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Explain three factors that gave rise to consumer movement in India.

aSR H Il @ W fRg weR R Sr @ 2 W Sqmwl ofed ww
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3%

How are the consumers exploited in the marketplace ? Explain with
three examples.
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“The 1830s were years of great economic hardship in Europe.”
Support the statement with four examples.
OR
How did Japan and China inspire Vietnamese nationalists to drive
out the French from Vietnam ? Explain.
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|y FE | 4
Explain the role played by tribal peasants in the Gudem Hills of
Andhra Pradesh during the Non-Cooperation Movement.
o # sfefie gehal A @ few R ugfid et € 2 5@ Wl # R =R
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How do industrial units pollute air in India ? Explain any four points
in this regard.
‘o 3R SR TS W A TE ¥ SRR s § 1 fR W) e
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“Pressure groups and movements exert influence on politics in a
variety of ways.” Explain any four ways.
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Explain four ways in which ‘globalisation’ and ‘the pressure of
competition’ has changed the lives of workers substantially ? Explain.
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Two features — A and B, are marked in the given political outline
map of India (on page 17). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map :

A, The place, where Indian National Congress Session of December
1920 was held.

B. The place, where Jallianwala Bagh incident took place.
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 17) :

) Champaran — the place, from where the movement of Indigo
planters was started.

(ii)  Bardoli — the place, from where ‘No Tax Campaign’ was started.

36. ?ﬁam—A,Bakc,méﬁqmmm%@»mﬁa(ww)wm
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Three features — A, B and C, are marked in the given political
outline map of India (on page 19). Identify these features with the

help of the following information and write their correct names on
the lines marked in the map :

A. Coal mines
B. Software Technology Park

C. Terminal Station of East-West Corridor
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 19) :

(i) Salem — Iron and Steel Plant
(i) Kakrapara'— Nuclear Power Plant
(iii) Paradip — Sea Port

fferad gv7 Fae gegT ahemea & f7e ¥97 G@r 35 936 F W
wE:

The following questions are for the Blind Candidates only, in
lieu of Q. No. 35 and 36 :

(35.1) wwwww,aﬁwmm'ﬂmm 1920 #
gaT o |

(35.2) 3T VX F AW FAGY, Vel Sferataren 9 g w2 4t | 1+1=2

(35.1) Name the place, where the Indian National Congress Session of
December 1920 was held.

(35.2) Name the city, where the Jallianwala Bagh incident took place.
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In which state is Salem Iron and Steel Plant located ?

Name the state, where Kakrapara nuclear power plant is
located.

In which state is the Paradip sea port located ?
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